

$$\lim_{x \rightarrow 2} \frac{x^2 - 0}{x^2 + ax + b} = -\infty$$

$$x^2 + ax + b = 0$$

$$(x - 2)^2 = 0$$

$$x^2 - 4x + 4 = x^2 + ax + b$$

$$a = -4 \rightarrow a + b = 0$$

$$b = 4$$

→ صورت $2(2) - 0 = -1$
که چون جواب کل $-\infty$ می‌دهد پس
حاصل عبارت $0 \neq 1$ است

$$\lim_{x \rightarrow (\sqrt[2]{14})} \frac{x}{x^2 + ax + b} = +\infty$$

$$x^2 + ax + b = 0 \rightarrow (x - \sqrt[2]{14})^2$$

و از طرفی $0 \neq 1$ است.

$$x^2 + \frac{14}{\sqrt{14}} - 2x\sqrt{14} = x^2 + ax + b \rightarrow \sqrt[2]{14}$$

$$a = -2\sqrt{14}$$

$$\left[\frac{b}{a} \right] = \left[\frac{\frac{14}{\sqrt{14}}}{-2\sqrt{14}} \right] = \left[\frac{14\sqrt{14}}{-2\sqrt{14}} \right] = \left[-\frac{\sqrt{14}}{\sqrt{14}} \right] = -1$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{\mu}})^+} \frac{[-x] + a}{\left| \frac{\sqrt{\mu}}{\mu} x + a \right| + a} = -\infty$$

$$\left[-\frac{1}{\sqrt{\mu}} \right] = -1$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{\mu}})^+} \frac{-1 + a}{\left| \frac{1}{\sqrt{\mu}} + a \right| + a} = -\infty$$

$$\frac{[-x] + a}{\left| \frac{1}{\sqrt{\mu}} + a \right| + a} = -\infty$$

$$[a] = \left[-\frac{1}{\sqrt{\mu}} \right] = -1$$

$$\frac{a-1}{\frac{1}{\sqrt{\mu}} + a} = -\infty$$

$$\frac{1}{\sqrt{\mu}} + a = 0 \Rightarrow a = -\frac{1}{\sqrt{\mu}}$$

$$\frac{1}{\sqrt{\mu}} + a = 0 \Rightarrow a = -\frac{1}{\sqrt{\mu}}$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{\mu}})^+} \frac{14x - \left[-\frac{x}{\sqrt{\mu}} \right]}{x^{\sqrt{\mu}} + \left[\frac{x}{\sqrt{\mu}} \right]} = \frac{14x + 1}{x^{\sqrt{\mu}} + 1}$$

$$\frac{-1 + 1}{-1 + 1} = \frac{0}{0} = +\infty$$

$$x > -\frac{1}{\sqrt{\mu}}$$

$$x^{\sqrt{\mu}} \rightarrow \frac{1}{\sqrt{\mu}}$$

$$\frac{1}{\sqrt{\mu}} \rightarrow \frac{x}{\sqrt{\mu}} \rightarrow 1 \quad \left[-\frac{x}{\sqrt{\mu}} \right] = -1$$

$$\frac{x}{\sqrt{\mu}} \rightarrow 1$$

$$-\frac{x}{\sqrt{\mu}} \rightarrow -1$$

$$\lim_{x \rightarrow 1} \frac{x^{\sqrt{\mu}} - 1}{x^{\sqrt{\mu}} - 1} = \frac{(x-1)(x+1)}{(x-1)(x+1)} = 1$$

$$= \frac{1}{1} = 1$$

$$\lim_{n \rightarrow \infty} \frac{n^{r+1} n^{1-y}}{1^r + y \sqrt[n]{n}} = \frac{(n+1)(n+r)}{y(r + \sqrt[n]{n})} = \frac{(\cancel{n+1})(\sqrt[n]{n} + r)}{y(\cancel{\sqrt[n]{n} + r} - r \sqrt[n]{n})}$$

$$= -1(1r) = -1r$$

$$\lim_{x \rightarrow \frac{\pi}{2}} \frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1-\cos x} - \sin \frac{x}{2}} \times \frac{\sqrt{1+x} + \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}} = \frac{1+x - (1-x)}{\sqrt{1+x} + \sqrt{1-x}} \times \frac{-\sin \frac{x}{2}}{-\sin \frac{x}{2}} = \frac{2x}{\sqrt{1+x} + \sqrt{1-x}} \times \frac{\cos \frac{x}{2}}{\cos \frac{x}{2}} = \frac{2x \cos \frac{x}{2}}{\sqrt{1+x} + \sqrt{1-x}}$$

$$\frac{\sin^2 \alpha}{r} = \frac{1 - \cos \alpha}{r}$$

با توجه به رابطه $\sin \alpha \rightarrow \alpha$

$$\frac{K + \cos(\sqrt{a} \alpha)}{K \alpha^2} \stackrel{\%}{=} \frac{\frac{3}{16} \alpha^2}{H \alpha^2} \rightarrow \frac{\sqrt{a} (1 - \sin \alpha)}{r_{K \alpha}} \stackrel{H \alpha^2}{\Rightarrow} \text{not a constant}$$

$$K + \cancel{\cos(0)} = 0$$

天
一
一
一

19

222

1. 0 m/s

$$\sin^2 \alpha - \cos^2 \alpha = -\cos 2\alpha$$

$$K = -1 \rightarrow \frac{a}{K} = -a$$

فوق Hop (موجب)
نفي

نفي

$$K + 1 - a \rightarrow \frac{r}{K} = r$$

$$K + 1 - a \rightarrow \frac{r}{-a} = r \rightarrow a = r$$

$$\sin \alpha \rightarrow \alpha$$

$$\cos \alpha \rightarrow 1 - \alpha^2$$

$$\frac{r \sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}{\sqrt{a^2 - a r}} = \frac{0}{\sqrt{a - r a} \sqrt{a + r a}} = \frac{r \sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}{\sqrt{a - r a} \sqrt{a + r a}}$$

$$= \frac{r}{\sqrt{a + r a}} +$$

$$\frac{r}{\sqrt{r a}} \times \frac{\sqrt{r a}}{\sqrt{r a}} = \frac{r \sqrt{r a}}{r a} = \frac{\sqrt{r a}}{\sqrt{a}} = \sqrt{\frac{r}{a}}$$

$$= \frac{r \sqrt{r a}}{r a} = \frac{\sqrt{r a}}{\sqrt{a}} = \sqrt{\frac{r}{a}} = \frac{r}{\sqrt{a + r a}} + \frac{r}{\sqrt{a + r a}} = \frac{r}{\sqrt{a + r a}}$$

$$\lim_{a \rightarrow -1} \frac{1 - K[a]}{a^2 - 1} = -\infty$$

$$(K \pi, \cos K \pi) \rightarrow \text{not}$$

$$a \rightarrow (-1)^+$$

$$\rightarrow 1 - K[a] > 0$$

$$1 + K > 0$$

$$K > -1$$

$$a \rightarrow (-1)^-$$

$$a^2 - 1 > 0$$

$$1 - K[a] < 0$$

$$1 + K < 0$$

$$K < -1$$